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Christmas Division

Solve the following word problems.

Santa has 500 candy canes to distribute among 25
elves. How many candy canes does each elf get?

There are 450 Christmas ornaments to be hung on
15 Christmas trees. How many ornaments will be
hung on each tree?

A Christmas factory produces 864 toys every day.
If each box can hold 36 toys, how many boxes are
needed each day?

There are 768 Christmas lights that need to be
divided into 32 strands. How many lights will be on
each strand?

The Christmas choir has 540 carols to sing over 30
nights. How many carols will they sing each night?

A Christmas shop sold 600 Christmas trees in 20
days. How many trees did they sell each day?

Santa's sleigh can carry 840 presents. If each bag
holds 40 presents, how many bags can Santa’'s

sleigh carry?

Mrs. Claus baked 960 cookies to be packed in 40
tins. How many cookies will be in each tin?

9 There are 720 Christmas cards to be sent to 30
different countries. How many cards will be sent to

iach country?
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